CHAPTER 22 ALTERNATE PROBLEMS

Problem 22.1A

Budgeting Manufacturing Overhead
Wells Enterprises manufactures a component that is processed successively by Department I and Department II.  Manufacturing overhead is applied to units produced at the following budget costs:


Manufacturing Overhead


per Unit


Fixed
Variable
Total


Department I

$15
$8
$20


Department II

12
6
15

These budgeted overhead costs per unit are based on a normal volume of production of 5,000 units per month.  In January, variable manufacturing overhead in Department II is expected to be 20% above budget because of major scheduled repairs to equipment.  The company plans to produce 8,000 units during January.

Instructions

Prepare a budget for manufacturing overhead costs in January.  Use three column headings: Total, Department I, and Department II.

Problem 22.2A

Budgeting Labor Costs

Deep Valley Foods manufactures a product that is first smoked and then packed for shipment to customers.  The product’s direct labor cost per pound is budgeted using the following information:


Direct Labor Hours
Budgeted Direct Labor


per Pound
Cost per Hour


Process:



Smoking

.04
$10.00



Packing

.01
8.00

The budget for March calls for the production of 500,000 pounds of product.  March’s direct labor costs for smoking are expected to be 5% above budget due to anticipated scheduling inefficiencies.  However, direct labor costs in the packing room are expected to be 3% below budget because of changes in equipment layout.

Instructions

Prepare a budget for direct labor costs in March.  Use three column headings:  Total, Smoking, and Packing.

Problem 22.3A

Budgeting Production, Inventories, and Cost of Sales

Frowren Domestic manufactures and sells a single product.  In preparing its master budget for the current quarter, the company’s controller has assembled the following information:


Units
Dollars


Sales (budgeted)

200,000
$8,000,000


Finished goods inventory, beginning of quarter

30,000
750,000


Finished goods inventory, end of quarter

25,000
?


Cost of finished goods manufactured (assume a



Budgeted manufacturing cost of $26 per unit)

?
?

Frowren Domestic used the average cost method of pricing its inventory of finished goods.

Instructions

Compute the following budgeted quantities or dollar amounts:

a. Planned production of finished goods (in units).

b. Cost of finished goods manufactured.

c. Ending finished goods inventory (Remember that in using the average cost method, you must first compute the average cost of units available for sale.)

d. Cost of goods sold.

Problem 22.4A

Short Budgeting Problem

Melody Corporation manufactures and sells a single product.  In preparing the budget for the first quarter, the company’s cost accountant has assembled the following information:


Units
Dollars


Sales (budgeted)

200,000
$15,000,000


Finished goods inventory, Jan. 1 (actual)

40,000
1,440,000


Finished goods inventory, Mar. 31 (budgeted)

30,000
?


Cost of finished goods manufactured (budgeted



manufacturing cost is $38 per unit)

?
?

The company uses the first-in, first-out method of pricing its inventory of finished goods.

Instructions

Compute the following budgeted quantities or dollar amounts:

a. Planned production of finished goods (in units).

b. Cost of finished goods manufactured.

c. Finished goods inventory, March 31 (Remember to use the first-in, first-out method in pricing the inventory.)

d. Cost of goods sold.

Problem 22.5A

Budgeting for Cash

Baily Distributors wants a projection of cash receipts and cash payments for the month of November.  On November 28, a note will be payable in the amount of $92,250, including interest.  The cash balance on November 1 is $37,200.  Accounts payable to merchandise creditors at the end of October were $206,000.


The company’s experience indicates that 75% of sales will be collected during the month of sale, 20% in the month following the sale, and 3% in the second month following the sale; 2% will be uncollectible.  The company sells various products at an average price of $10 per unit.  Selected sales figures are as follows:


Units


Sept. – actual

40,000


Oct. – actual

70,000


Nov. – estimated

90,000


Dec. – estimated

60,000


Total estimated for the current year

900,000

Because purchases are payable within 15 days, approximately 50% of the purchases in a given month are paid in the following month.  The average cost of units purchased is $6 per unit.  Inventories at the end of each month are maintained at a level of 2,000 units plus 10% of the number of units that will be sold in the following month.  The inventory on October 1 amounted to 9,000 units.


Budgeted operating expenses for November are $250,000.  Of this amount, $100,000 is considered fixed (including depreciation of $40,000).  All operating expenses, other than depreciation, are paid in the month in which they are incurred.


The company expects to sell fully depreciated equipment in November for $9,000 cash.

Instructions

Prepare a cash budget for the month of November, supported by schedules of cash collections on accounts receivable and cash payments for purchases of merchandise.

Problem 22.6A

Estimating Borrowing Requirements

Peter Corporation sells its products to a single customer.  At the beginning of the current quarter, the company reports the following selected account balances:


Cash

$  10,000


Accounts receivable

250,000


Current payables

90,000

Peter’s management has made the following budget estimates regarding operations for the current quarter.


Sales (estimated)

$700,000


Total costs and expenses (estimated)

500,000


Debt service payment (estimated)

260,000


Tax liability payment (estimated)

50,000

Of Peter’s total costs and expenses, $40,000 is quarterly depreciation expense, and $18,000 represents the expiration of prepayments.  The remaining $442,000 is to be financed with current payables.  The company’s ending prepayments balance is expected to be the same as its beginning prepayments balance.  Its ending current payables balance is expected to be $15,000 more than its beginning balance.


All of Peter’s sales are on account.  Approximately 70% of its sales are collected in the quarter in which they are made.  The remaining 30% is collected in the following quarter.  Because all of the company’s sales are made to a single customer, it experiences virtually no uncollectible accounts.


Peter’s minimum cash balance requirement is $10,000.  Should the balance fall below this amount, management negotiates a short-term loan with a local bank.  The company’s debt ratio (liabilities ( assets) is currently 90%.

Instructions

a. Compute Peter’s budgeted cash receipts for the quarter.

b. Compute Peter’s payments of current payables budgeted for the quarter.

c. Compute Peter’s cash prepayments budgeted for the quarter.

d. Prepare Peter’s cash budget for the quarter.

e. Estimate Peter’s short-term borrowing requirement for the quarter.

f. Discuss problems Peter might encounter in obtaining short-term financing.

Problem 22.7A

Budgeted Income Statement and Cash Budget

Synder’s has been in business since January of the current year.  The company buys fresh pasta crusts and resells them to large supermarket chains in five states.  The following information pertains for Synder’s first four months of operations:


Purchases
Sales


Jan.

$50,000
$80,000


Feb.

40,000
60,000


Mar.

55,000
90,000


Apr.

25,000
40,000

Synder’s expects to open several new sales territories in May.  In anticipation of increased volume, management forecasts May sales at $100,000.  To meet this demand, purchases in May are budgeted at $60,000.  The company maintains a gross profit margin of approximately 40%.


All of Synder’s sales are on account.  Due to strict credit policies, the company has no bad debt expense.  The following collection performance is anticipated for the remainder of the year:


Percent collected in month of sale

40%


Percent collected in month following sale

50%


Percent collected in the second month following sale

10%

Synder’s normally pays for 75% of its purchases in the month that the purchases are made.  The remaining amount is paid in the following month.  The company’s fixed selling and administrative expenses average $10,000 per month.  Of this amount, $3,000 is depreciation expense.  Variable selling and administrative expenses in the month that they are incurred.


Synder’s debt service is $4,000 per month.  Of this amount, approximately $3,000 represents interest expense, and $1,000 is payment on the principal.  The company’s tax rate is approximately 25%.  Quarterly tax payments are made at the end of March, June, September, and December.

Instructions

a. Prepare Synder’s budgeted income statement for May.

b. Prepare Synder’s cash budget for May.  Assume that the company’s cash balance on    May 1 is $30,000.

c. Explain why Synder’s budgeted cash flow in May differs from its budgeted net income.

Problem 22.8A

Preparing a Cash Budget

Jill Marlow, owner of Marlow Industries, is negotiating with the bank for a $250,000, 90-day, 15% loan effective July 1 of the current year.  If the bank grants the loan, the net proceeds will be $240,000, which Marlow intends to use on July 1 as follows: pay accounts payable, $200,000; purchase equipment, $25,000; add to bank balance, $15,000.


The current working capital position of Marlow Industries, according to financial statements as of June 30 is as follows:


Cash in bank

$  18,000


Receivables (net of allowance for doubtful accounts)

200,000


Merchandise inventory

    80,000


Total current assets

$298,000


Accounts payable (including accrued operating expenses)

  160,000


Working capital

$138,000
The bank loan officer asks Marlow to prepare a forecast of her cash receipts and cash payments for the next three months to demonstrate that the loan can be repaid at the end of September.


Marlow has made the following estimates, which are to be used in preparing a three-month cash budget: Sales (all on account) for July, $320,000; August, $400,000; September, $280,000; and October, $210,000.  Past experience indicates that 75% of the receivables generated in any month following the sale, and 1% will prove uncollectible.  Marlow expects to collect $160,000 of the June 30 receivables in July and the remaining $40,000 in August.


Cost of goods sold consistently has averaged about 65% of sales.  Operating expenses are budgeted at $40,000 per month plus 10% of sales.  With the exception of $5,000 per month depreciation expense, all operating expenses and purchases are on account and are paid in the month following their incurrence.


Merchandise inventory at the end of each month should be sufficient to cover the following month’s sales.

Instructions

a. Prepare a monthly cash budget showing estimated cash receipts and cash payments for July, August, and September, and the cash balance at the end of each month.  Supporting schedules should be prepared for estimated collections on receivables, estimated merchandise purchases, and estimated payments for operating expenses and of accounts payable for merchandise purchases.

b. On the basis of this cash forecast, write a brief report to Marlow explaining whether she will be able to repay the $250,000 bank loan at the end of September.

Problem 22.9A

Preparing and Using a Flexible Budget

Eight Flags is a retail department store.  The following cost-volume relationships were used in developing a flexible budget for the company for the current year:


Yearly
Variable


Fixed
Expenses per


Expenses
Sales Dollar


Cost of merchandise sold.


$0.65


Selling and promotion expense

$160,000
0.09


Building occupancy expense

120,000
0.02


Buying expense

100,000
0.05


Delivery expense

110,000
0.01


Credit and collection expense

60,000
0.01


Administrative expense

  300,000
  0.02



Totals.

$850,000
$0.85
Management expected to attain a sales level of $20 million during the current year.  At the end of the year, the actual results achieved by the company were as follows:


Net sales

$18,000,000


Cost of goods sold

11,160,000


Selling and promotion expense

800,000

Building occupancy expense

450,000


Buying expense

720,000

Delivery expense

200,000


Credit and collection expense

100,000


Administrative expense

360,000

Instructions

a. Prepare a schedule comparing the actual results with flexible budget amounts developed for the actual sales volume of $18,000,000.  Organize your schedule as a partial multiple-step income statement, ending with operating income.  Include separate columns for (1) flexible budget amounts, (2) actual amounts, and (3) any amount over or (under) budget.  Use the cost-volume relationships given in the problem to compute the flexible budget amounts.

b. Write a statement evaluating the company’s performance in relation to the plan reflected in the flexible budget.

Problem 22.10A

Flexible Budgeting

XL Industries uses department budgets and performance reports in planning and controlling its manufacturing operations.  The following annual performance report for the widget production department was presented to the president of the company:

	
	Budgeted Costs

for 4,000 Units
	Actual Costs Incurred
	Over or (Under) Budget

	
	
	
	

	
	Per Unit
	Total
	
	

	Variable manufacturing costs:
	
	
	
	

	
Direct materials

	$   25.00
	$100,000
	$120,000
	$20,000

	
Direct labor

	50.00
	200,000
	210,000
	10,000

	
Indirect labor

	12.00
	48,000
	50,000
	2,000

	
Indirect materials, supplies, etc.

	   10.00
	    40,000
	    43,000
	   3,000

	
   Total variable manufacturing costs

	$ 97.00
	$388,000
	$423,000
	$35,000

	Fixed manufacturing costs:
	
	
	
	

	
Lease rental

	$   10.00
	$  40,000
	$  40,000
	- 0 -

	
Salaries of foremen

	25.00
	100,000
	104,000
	$  4,000

	
Depreciation and other

	    18.00
	    72,000
	    75,000
	   3,000

	
   Total fixed manufacturing costs

	$  53.00
	$212,000
	$219,000
	$  7,000

	Total manufacturing costs
	$150.00
	$600,000
	$642,000
	$42,000


Although a production volume of 4,000 widgets was originally budgeted for the year, the actual volume of production achieved for the year was 5,000 widgets.  Direct materials and direct labor are charged to production at actual costs.  Factory overhead is applied to production at the predetermined rate of 150% of the actual direct labor cost.


After a quick glance at the performance report showing an unfavorable manufacturing cost variance of $42,000, the president said to the accountant: “Fix this thing so it makes sense.  It looks as though our production people really blew the budget.  Remember that we exceeded our budgeted production schedule by a significant margin.  I want this performance to show a better picture of our ability to control costs.”

Instructions

a. Prepare a revised performance report for the year on a flexible budget basis.  Use the same format as the production report above, but revise the budgeted cost figures to reflect the actual production level of 5,000 widgets.

b. Briefly comment on XL’s ability to control its variable manufacturing costs.

c. What is the amount of over- or underapplied manufacturing overhead for the year?  (Note that a standard cost system is not used.)
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